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The meta prompt mentioned you were looking for a common crossword entry that was hinted at
four times in the grid. | think most solvers realized pretty quickly that there were pairs of
repeating letters in each of the 4 corners (OTE, OLL, AME, USH). If you got that far, you were
most of the way done! You just had to realize that the entries that contained those repeating
letters rhymed, and the words on the outsides of these blocks (both above and below) also
rhymed. In each of the corners, the order of the rhyming entries (aka the rhyme scheme)

was ABBA, which is indeed a common crossword entry, and it also fit the the title. "Hear We Go
Again" was referencing the Mamma Mia movies - which the band ABBA is intricately connected
to, and the "hear" part was a hint that the sounds of the entries were important.



